	Годовая контрольная работа по алгебре в 8 классах 

В А Р И А Н Т   № 1 

1. Упростите выражение: 
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2. Найдите значение выражения:
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3. Упростите выражение:
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4. Решите уравнение:
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 5. Решите систему неравенств:
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В А Р И А Н Т   № 2 

1. Упростите выражение: 
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2. Найдите значение выражения:
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3. Упростите выражение:
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4. Решите уравнение:
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В А Р И А Н Т   № 1 

1. Упростите выражение: 
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2. Найдите значение выражения:
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3. Упростите выражение:
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1. Упростите выражение: 


[image: image22.wmf]2

2

4

6

3

:

2

4

a

a

a

a

+

-
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